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PART - |
Physics

If 6; and 0, be the apparent angles of 1.

dip observed in two vertical planes at
right angles to each other, then the true
angle of dip O is given by-

A cot? 0 = cot? 01 + cot? 0,
B. tan?0=tan? 61+tan292
C. cot?0=cot? 0 — cot? 0,

D. tan? = tan? 0, —tan? 0,

The weight of an object in coal mine, at 2.

the sea level and at the top of the
mountain are W, W, and Wj

respectively. Then-
A W < W, > Wy
B. Wi=W, =W,
C. W <W,<W;
D. W >W,>W;

The intensity of gamma radiation from a 3.

given source is I. On passing through 36
mm of lead, it is reduced to é The
thickness of lead which will reduce the

. : ([
intensity to 3 will be-

A. 12 mm
B. 18 mm
C. 9mm

D. 6 mm

Hifdes orer

a1 JEATER o, ST Ueh g6 6 FHehiviia &,
B 7T T ST THA R0 O F 0, B AT
STEqferes TH 10T O BITI-

cot? 6 = cot? 0+ cot? 0,
tan? 0 = tan? 01+ tan? 0,

cot? 0 = cot? 0 - cot? 0,

o o w >

tan? 0 = tan? 61—tan2 0,

BRI PR IRCHE ALK KRIREC )
AT o Forlt areq o W sHART Wy, Wiy el
W 8, -

Al W < W, > Wy

B. W, =W, =W;

C. W <W,<W;

D. W>W,>W;

forw T e & fieer arer T frfRor
frerar 1 31 3@ faferor =t 36 firdt Hiers &

é@ﬁ@wﬁmswﬁﬁwﬂmﬁté@

STt 31 e 1 % F 2 g A
BT =TTeu-

12 ot

18 foeft

9 foeft

6 Torft

0o w >
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4. The dimensional formula of magnetic
flux is-

A. _MLT_ZA_Z}

B. _MLZT‘Z A—z‘

C. ‘MLzT—l A—z‘

D. _ML2T‘2 A—l'

3. A particle is executing simple harmonic
motion with a time period T. Attimet =
0, it is at its position of equilibrium. The
kinetic energy-time graph of the particle

will look like-
A. 'y
KE —\/\/‘
0 . >
% T % —t
B. A
KE —\/\/‘
0 - >
I T T t
4 2
C. A
KE
0 - >
% T 2T t
D. 4
KE
0 >
% T

4. Treehi weraE o T g 8-

A

_MLT‘zAﬂ

ML2T2A2 |

ML2T A2 ]

ML2T2A7L |

5. U T TA AT T L T&T & e
3HTerd 1o T | 9 t =0 T HJe ohl
feerfer & R1 por <t ifcrst Srott-omr & T
T T &9 &I

A

. \/\F

% T -t
A
KE"\/\
N
rT t
4 2
A
KE
0 T >
A T t
A
KE
0 >
I t
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6. A body of mass 0.25 kg is projected
with a velocity 100 m/s from a tank of
mass 100 kg. What is the recoil velocity
of the tank?

A. 5m/s
B. 25m/s
C. 0.5m/s
D. 0.25m/s

7. The distance of Neptune and Saturn

from Sun are nearly 10'3 and 10%2
meter respectively. Assuming they
move in circular orbits, their periodic
times will be in the ratio-

A 1o

B. 100

. 10410

J %

8. Inarectangle ABCD (BC =2 AB). The
moment of Inertia along which axis will

C
D

be minimum?
E
A } B
H+ - F
D t C
G
A. BC
B. BD
C. HF
D. EG

0.25 kg S| 1 Toh & I 100 m/s %
AT H 100 kg FHH o ook § Taifua fham
SITAT 81 o o1 Tfqardor o gRT-

A

B
C.
D

5m/s

. 25m/s

0.5 m/s

. 0.25m/s

o= 3wt 6 ot & gfet sewer: 1012

HR

1012 e & TV 81 3o TReEHOT AT

I I WA B, 3ok THHHOT HTcAl h1
ST BRI

A.
B.

C
D.

J10

100

. 10410

Vi

3Id ABCD (S BC = 2AB) & Sigcd

3ATE[o1 forer 377 o qia: =gAad g
E

A + B

H1 - F

D : C

A. BC

B. BD

C. HF

D. EG
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10.

11.

12.

If three condensers each of 300 F are 9.
connected in parallel, the resultant
capacity will be-

A. 100F
B. 300F
C. 600 F
D. 900 F

A body of 10 kg is acted upon by a force 10.

of 129.4 N. If g =9.8m/s? and the

acceleration of the block is 10m/s?

then the coefficient of friction between
the block and the surface is-

A. 0.03
B. 0.01
C. 0.30
D. 0.25

The electric field intensity due to a 11.

charge q at distance r is:-

A. Proportional to r2

B. Inversely proportional to r?

C. Proportional to r

D. Inversely proportional to r

A magnetic needle is kept in a non- 12.

uniform magnetic field. It experiences-
A. aforce and torque

B. a force but not a torque

C. atorque but not a force

D. neither a force nor a torque

gfe i denfer e Seies T i 300 F
2, 1 ST hH | SITeT 74T & dt aRormET
e grfl-

A. 100F
B. 300F
C. 600F
D. 900 F

10 kg S| %t Teh o 9 129.4 N =T
oI T 8 af¢ g =9.8m /s & quT g

T T 10m /% 21 A1 6] T g o o
B0 7O <hT T ETI-

A. 0.03

B. 0.01
C. 030
D. 0.25

Fereft SATaIT q o SHMOT r gl o forgger avr <t
GIECIEIIRE

A 12 3 g

B 12 % syepmmgamht

C. r o SFIHATAT

D. r % SICHATIAT

T TR TS h STAHT TRTeh i & &
T ST 8 1 I ST el 8-

A. S TAT A SATE

B. et Weq STt ATl e

C. o SATE0f e A &l

D. A& &, T8 5t AT
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13. Agasis filled in a container at pressure 13. wwmadad g Py e o ol g ) afe a1y
Pg. If the mass of molecules is halved T SHT STEIT TS SGehT St HTe et =T
and their rms speed is doubled, then the T ST L T ST A ST 2 T O
resultant pressure would be- ‘aﬁTr\rj
A. 2P B. 4P
0 0 A. 2P, B. 4P,
Po Po P P
— D. — 0 0
C. 4 2 C. T D. >
14.  Two spherical nuclei have mass number 14. 2 et TiTes sl SoamTe 6T 216 9 64
216 and 64 with their radii Ry and R, o gkt B s Ry @ R, 81579
respectively. The ratio % is equal to- et Ry T 0 BN
2 >R,
A 3:2 B.1:3 A 3:2 B.1:3
C. 1:2 D. 2:3 C. 1:2 D. 2:3
15.  The dielectric constant of metals is- 15. YTl T TISRIAIh BId &-
A 0 B. 1 A 0 B. 1
C. -1 D. Infinite C. -1 D. 3
M 2K M
For above configuration mass M kept on S e TS oA Mt e Tt
a frictionless plane. If the mass M is HAE T T 7T 8| $9 S| M &l &fast
displaced in the horizontal direction apd TS TR o Freenfid e S ot e
left, then the frequency of the system is- S
1 |k 1 |4k
A —[|— B. —.,— 1 |k 1 |4k
21\ 4M 2n \' M A —.— B. —.,[—
" " 27\ 4M 2n\ M
1 |k 1 [7k
| erv I e vy c. L]k p L[k
2n N\ 7M 2n VM 2\ 7M 2 \'M
SPACE FOR ROUGH WORK / T @t & forar srire
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17. In a forward biased p-n junction diode, 17, p-n wfer sre &t 31 fafa o taer™ ad

the potential barrier in the depletion o QfererT faya &1 %9 21-
region will be of the form- AferrT B
Potential barrier
A. A.
p n P n
B B
p n P n
C. C
p n P n
D. D
p n Y n
18. If in a condenser, instead of air, a 18.  afe Terfer o ATy o T T K WIS &l
dielectric medium of dielectric constant T HTESH T ST €, g

K is placed, the capacity of condenser- ;

A. decreases K times A K gqum?ﬁ%

B. increases K times B. K THT @ STt ®
C. remains unchanged C. Iuiafda wdiz
D. decreases K2 times D. k2 mroestd

SPACE FOR ROUGH WORK / &% &Td & for&r sre
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19.

20.

21.

22.

When a spring is stretched by 2 cm, it
stores 100J of energy. If it is stretched
further by 2cm, the stored energy will be
increased by-

A. 100J B. 200J

C. 300J D. 400J
The radius of the orbit of an electron in
a hydrogen like atom is 4.5 ap, where

ag Is the Bohr radius. Its orbital angular

. 3h . .
momentum is 2— It is given that h is
T

Plank’s constant and R is Rydberg
constant. The possible wave length
when the atom de-excites is-

A iR B. S
32 16

C. gR D. ﬂR
4 3

A linear harmonic oscillator of force

constant 2x10® N/m, and amplitude

0.01 m has a total mechanical energy of
160 Joules. Its-

A. Maximum potential energy is 100 J
B. Maximum Kinetic energy is 100 J
C. Maximum potential energy is 460 J
D. Minimum potential energy is zero
The Intensity of magnetic field due to

current I in a long straight wire is
proportional to-

A

B. I2
c. JI D.

-

19.

21.

22.

STeT fepet i =t 2cmﬁ$@°l'%ﬂ7ﬂ?ﬂ%,?ﬁ
39 100 =ht 3Tt wferd 21 STl ®) afe 39
2cm ﬁ@ﬁaﬁﬁﬁﬁlﬁﬁfﬁﬁ
-

A. 100]
C. 300J

BFSIS TH T | T SIagH o &l

I BIsaT 4.5 ag 8, ST&T ag dreL A€

Tt et e z—h 31 h T
T

frrraier @ R freat farien 2| St oA
SIS BT & A geTiord T aed g

B. 200J
D. 400J

A g B. 2R
32 16

C. %R . gR

T TS AT UTAT T a1t f=retieh
2x10% N/ m, 3¥mam 0.01 = & qerm saeht
St AT IS 160 ST 2l FHHI-

A. ifreraw feufast =it 100 7

B. efershay it 3911 100 7 @

C. sfireran Refast 391t 460 [ &

D. =Faw fufowr i g 8

T T A H T [ 3 10T Feiehid &
b T STIFHHTIITAT I -

A q B. |2

c. 1 D.}
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23.

24.

25.

26.

In series LCR circuit R =300Q2,
L=0.9H,C=2uF, ®»=1000rad/sec.
the impedance of circuit is-

A. 13000 B. 900Q

C. 500Q D. 400Q

On passing current | in a pure
inductance L, the average energy stored
initis-

A L2 B. LI?
2
C. %uz D. 2L12

A plane wave passes through a convex
lens. The geometrical shape of the
wavefront that emerges is-

A. Plane

B. Diverging Spherical
C. Converging Spherical
D. None of above

The distance between the centres of
Moon and Earth is x. The mass of the
earth is 81 times the mass of the moon.
At what distance from the centre of the
earth, the gravitational force will be
Zero?

A. X
2
B. 2x
3
C. 4x
3
D. 9x
10

23.

24.

25.

26.

T Avft LCR 9faer & R =300Q),
L=0.9H,C=2uF, ©=1000rad/sec.
T aftaer st gfrsmen 2-

A. 1300Q B. 900Q

C. 500Q D. 4000

38 Sehcdl L H [ T SaTted 8 o 3eH

1

A EL|2 B. LI

1 9
— Ll
C. 1

D. 2LI2

Toh SHAS AT 390 oiF § TSR & ket
STt T T ST SR BT 8-

A. THdA

B. @i Ml

C. FIhEia mel™

D. Wk H IE T

ST AT g2l o6 ksl o off=l sht gl x &

et 2T SEFHT <=5HT % SeHM § 81 AT
21 At o % § fore gl R TTecA RN o
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217.

28.

29.

The escape velocity of a particle of mass
m varies as-

A. m?2

B. m
C. 0
D. m-1

A system consists of 3 particles each of
mass m located at points (1, 1), (2, 2)
and (3, 3). The coordinates of the centre
of mass are-

A. (6,6)
B. (3,3)
C. (1,1)
D. (2,2)

Energy levels are shown for a molecule.

The ratio of the wavelength ;:—1 IS given
2

by-

217.

28.

29.

m SS9 o TRl 0T o7 9T o

I ST o FoehTar o U7 ot |l o6
oMM m &, fsrgat (1, 1), (2, 2) 791 (3, 3)
R oI 21 o SEAHM 5 o HaRTieh 8-

A. (6,6)
B. (3,3)
C. (1,1)
D. (2,2)

Toh 30 % foT it Tt waf¥ia fomg e &)
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31.

Extension

As shown in fig. If the dimension of two
wires A and B of different materials are
same then their Young modulus Ya

and Yg are related as-
A Yo=Y

B. Yao>VYg
C. Ya<VYp
D

. No relation

Blue ——
Green ——»

Red ——»

459

A beam of light consisting of red, green
and blue colours is incident on right
angled prism. The refractive indices of
the material of the prism for the above
red, green and blue wavelengths are
1.39, 1.44 and 1.47 respectively. The
prism will

A. Separate the red colour part from
green and blue colours

B. Separate the blue colour part from
the red and green colours

C. Separate the green colour part from
the red and blue colours

D. Not separate the three colours at all

31.

A RN R S TR T T AT B &
T SCATET O Y I Y &l
ferTaR 379k off=r wvster 2rm-

Ya =Yg
Ya>Yp
Ya <Yp
IS TFsTer T

o o w >

Blue ——»
Green —»

Red ——»
[ (\

STeRTRT T U U, Fores dret, &40 & et &1
graferd B, awenior fisy o stafad giar 2
S5 o gl o1 STUaiH 3 A1, B
fret qar 2t & fqu spasT: 1.39, 1.44 9
1.47 2| frem-

A. T T &L T At T H STAT M
B. it &1 1 T 8 T & 3T L
C. ST It I AT TT H ITRT L M
D. 1 {711 sl STeRT T il
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32.

33.

34.

The energy (E), velocity (v) and force
(F) be taken as fundamental quantities,
then what are the dimensions of mass?

A g2
B. g2
C. gyl
D. 2

In Young’s double slit experiment, the
intensity is | at a point where the path

difference is % where A is wavelength

of light used. If 1, denotes the
maximum intensity, then I/l is equal

A 3
4
B. 1
2
C. 3
2
D. 1
2

If L, C and R represent inductance,
capacitance and resistance respectively,
then which of the following does not
represent dimensions of frequency?

1
G B. R/

1
C. = D.%

32.

33.

34.

afe I (E), ST (v) 1 oA (F) 1 A
T3 AT SR QY geu| hi fomm R g

A g2
B. g2
C. gyl
D

Fv_2

A o fgeh Tete ST & [ efiorert aed foreg o
wmﬂ%%aﬁxﬁg$mﬂﬂﬁﬁw%ﬁ

21 afe srfirkam s 1 AH 1) o wefia
feraT STt 1/ 1 <7 91 -

A 3
4
B. i
2
C. ﬁ
2
D. 1
2
e L, C qATR SHAST: Sehed, ETNAT e
gfeiy Tefdid Fd &, A e T a &ie
T & fomm wefia 72
1
1
C. ﬁ D. %
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35.

36.

37.

In a wire, the relation in resistances at 35.

temperature t°C and 0°C is-
A. Ri=Rgp+at)
B. R{=Rp(l-at)
C. R{=R3(+at)

D. R{=R3(1-at)

A body of mass m is moving in a circle 36.

of radius r with a constant speed v. The
2

force on the body is mTV and is

directed towards the centre. What is the
work done by this force in moving the
body over half the circumference of the
circle?

mv2

A. —- 7l

The root mean square value of the peak 37.

voltage (Vp) in an AC circuit is-

A. 0637V, B.0.707V,

C. 2y D. V2V,

foref} T &, qTOET °C qeIT 0°C W Sfaret
o defer &-

A. Ry =Ry@+at)

B. R;=Ry(l-at)

C. R{=R3@+at)
D

R =R3(1-at)

m S 6T Teh ¢ s o g9 | fea =
v T 3T &) a6 AT 5

2
m%%ama‘s'aﬁ%%ﬁ'aﬁraﬁtwél
<6 oI ok ST WIS O 37ef =15 U1 Rt o
fepam T el B

mv? .
AT
B. I

mv2
c. 7
D. TEI’2

mv2
Rret aeest (V) #1 AC oy i arey
et A 2-
A. 0637V,  B. 0707 V,
C. 2y, D. V2V,

SPACE FOR ROUGH WORK / &% &Td & for&r sre
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38.

Which is the weakest force among the 38.

fundamental forces?

PR gerge i & & 1 wod g

T 87

A. Electromagnetic force P e
B. Gravitational force B N
C. Strong force
C. JdT ot
D. Weak force
D. g&d &
39. The time period of a simple pendulum 39. HHmM YR § Tk TS AT T 1A FHIA
on a freely moving artificial satellite is- arTT-
A. Zero A =
B. 2 seconds B 2%
C. 3seconds
C. 3THTS
D. Infinite
D. 3=
40.  The unit of magnetic moment is- 40. STl HATEUT ST AT o-
A. Weber / metre A. FR/ i
B. \Weber — metre? B. Jer_tier’
C. Ampere — metre C. Uftamr et
D. Amperefmetre2 D. W_W
SPACE FOR ROUGH WORK / T &t & forr sre
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V P,

In the given V — T graph relation
between P; and P, is given by-

A P =P,
B. P<P,
C. B>P
D

. No relation

42. A particle has an initial velocity of 42.

3i+4j and an acceleration of

0.4i + 0.3] . It’s speed after 10 seconds
is-

10 units

72 units

7 units

8.5 units

o0 @ »

43.  The quantity which increases in step-up 43.

transformer is?
A. Current
B. Frequency
C. Potential
D. Power

41.

ff@UTV-TUwH P, 9 P, d=
qrele AT

A P =P

B. P<P,

C. P>P,

D. I3 &Y Tl

Weh ST ohl TLTeR AT 3) + 4] T cator
0.4i +0.3] 21 10 YhUE W1 TEHT =T
-

A. 103HE

B. 72 w

C. 739

D. 8.5%#T

oAl ZRBEL 0 i ©Y UET sedt 82
A. 9T
B. &

C. fava
D. Witk

SPACE FOR ROUGH WORK / &% &Td & for&r sre
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44. A short linear object of length ‘b’ lies 44, Q%%ﬁﬁ%@ﬁaaﬁrﬁ, reeh s b’ €,

along the axis of a concave mirror of ¢ PrRT 20 F sTaaer a9 F 3T F TEE
focal length "f” ata dlstaPce ‘u’ frc?m the SR el @ “u’ < T ST 2 R
pole of the mirror. The size of the image &
is approximately equal to- T T ST B -
A. (u—fj% A (u_fj%
b| — bl ——
f f
B. ( ; % B. ; j%
b| — b| ——
u—f u—f
C - _
b(u f C. b u fj
f f
D.
b( f D. b f ]
u-—f u-—f
45. A body of mass 5 kg is suspended by a 45.  5kg S hl Teh oq i FohEll 7 THAA
spring balance on an inclined plane as o Tl 28 T qett & ceanrn T §, ST
shown in figure. The spring balance %%ﬁ% . O%l PR—
measures- N S
S
30°
300
A. 50N A. 50N
B. 25N B. 25N
C. 500N C. 500N
D. 10N D. 10N

SPACE FOR ROUGH WORK / &% &Td & for&r sre
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46.

If k; and ky are maximum Kinetic 46.

energies of photoelectrons emitted when

M T Ay TUT e T JohTRT ST foRet 4T
T U AT BT & ar Scdfsid it

light of wavelength A, and 2, ST ST STTIFHAT TS St SHUT:
respectively are incident on a metallic ky 7 ko Bt 2 = 2y =30y ararn
surface. If Ay =34, then-
A Ko
A kl S k_2 kl > ?
3
B. k
B kl < k—2 kl < 2
3
C. ky=3ky C. ky =3k,
D. k, =3k D. k, =3k
47. Lenz’s law gives- 47. At fmTar g-
A. Magnitude of induced e.m.f. A. g fa a1 9, s afEmmr
B. Magnitude of induced current B. I 9T 7 aiEor
C. Direction of induced current C. e arr R
D. !30th magnitude and direction of D. 3t e 5 g 3 e At
induced current
48.  The dipole moment of a dipole formed 48. AT +q q° —q S T T g A x AW
due to charges +q and —q separated by a 2 fafifa feere & mor e et &
distance x is- ” A
A. gx A g
C. ax C. qx
2 2
D. q2x D. q2x
SPACE FOR ROUGH WORK / T @t & forar srire
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49.

50.

T [

/o] 757 -
B K> 2
< d >
Two rods A and B of different materials
are welded together (same dimension)

as shown in fig. Their thermal
conductivities are kq and k. The

thermal conductivity of the composite
rod will be:

A. (kl + k2)
2

B. 3
E(k1+k2)

C. 2(k1 + k2)
D. (kg +kp)

The angle between the equipotential
surface and electric lines of force is-

A. Q°
B. 45°
C. 90°
D. 180°

49.

50.

A

/i TRT 7
B K>

B — d —_—
fe@e U fes e U g9 we fie fire
qeTeT ST &1 BT A T B ol SIIST TIT 8| 39eht

IS SATThaT Ui AT kg F ko BN al
TR B hT ISHT TATCTHAT TOTIE BRTT

A (ki +ky)
2

3
—(k;+k
2(1 2)

C. 2(k1 + k2)

D. (kl + k2)

FHfTE I8 qT fore[a et taret o sft<r
10T BT &-

00

45°

90°

180°

O o w >

SPACE FOR ROUGH WORK / &% &Td & for&r sre
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PART - 11

Chemistry RIRERIEC)
51.  The unit of flocculation value is:- 51.  oATEeIRH W Sl TS -
A millimoles L™t A e forex 1
B. mol Lt B. g ferer 1
C. mol mt C. tirer furferferer 1
D. gram ! D. oy fRer 1
52. 99% of a first order reaction was 52. gem shife st afsferam & ferr 999%

completed in 32 minutes. The time
required for 99.9% completion is-

srfurforam 32 firfre o qof 2l 21 99.9%

sAfforam quf 2 & STrawrsh g grT-
A. 50 min A 50 Ffe
B. 96 min B. 96ﬁ;|ﬁ2-
C. 64 min C. 64 fufe
D. 48 min D. 48 fafie
53. In the electrolytic refining process of 53. qfsl (Cu) 3 forgga uftwseor fafer o Ag v
copper, Ag and Au are found: Au 9TH BT &
A. On cathode A. FAE T
B. Onanode B. THeW
C. In the anodic mud C. tieuesH
D. In the cathodic mud D. $ASHSH
54.  The oxidation nu[n-berofPtin S4. [PL(CoH, )Cly | 3 Ptef smaefimeor
[Pt(C2H4)C|3] IS : H@T%|
A+l A +1
B. +2 B. +2
C. +3 C. +3
D. +4 D. +4

SPACE FOR ROUGH WORK / &% &Td & for&r sre
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55.  Arrange the following ions in increasing

56.

S7.

order of standard reduction potential
Ered

A Nat < Mg+2 <Al
B. A" < Nat < M92+
C. AI+3 > Mg2+ > Na+

D. AI+3<Mg2+<Na+

The magnetic moment of
Ti** (z2=22) ion is-

A 173B.M

B. 283B.M

C. ZeroB. M
D. 592B. M

The order of reactivity of following
alcohols towards conc. HCI is-

—or

F OH,
0) (y OH

CHs

CHS CH3
Ph
OH OH

(1) (V)
S>>V
ISHIS>1V
IV>1I>11>]
IV>1I>1>11

o0 @ »

56.

S7.

T AT T ST AT 3= fava
E° oy % SCd W H W]

A Na* <Mg* <Al
B. AI+3 < Na+ < M92+
C. AI+3 > M92+ > Na+

D. A" < Mg2* < Na*

Ti*" (Z = 22) 3T o1 greehia STt &

A. 1.73B.M

B. 2.83B.M
C. ZeroB. M
D. 592B.M
1T STeshige® & "= HC1 & fd
foramefierar =1 sy -
CHs,
— CH;,
F oH, £/ Y
(1) (y ©OH
CH3 CH3
Ph/\OH
OH
(1) (V)
A, ISH>HISIV
B. I>I>I>IV
C. IVl
D. IV=lli>1>11

SPACE FOR ROUGH WORK / &% &Td & for&r sre
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58.

59.

60.

61.

The term anomers of glucose refers to- 38.

A. isomers of glucose, that differ in
configuration at carbon-1 and
carbon-4 (C-1, C-4)

B. a mixture of D-glucose and
L-glucose

C. enantiomers of glucose

D. isomers of glucose, that differ in
configuration at carbon-1 (C-1)

The rate constant of a reaction depends 59.

upon:

A. Temperature

B. Nature of the reactant
C. Presence of catalyst
D. All of the above

Consider the following reaction. 60.

2502(9) + OZ(g) == 2503(9)
The equilibrium mixture contains
489S03,12.89 SO, and 9.6g0, in one

litre closed vessel. The value of
equilibrium constant is-

A. 10 B. 30
C. 25 D. 60
The empirical formula of an organic 61.

compound containing C and hydrogen is
CH, and its molecular mass is 78 g/per
mol. What is its molecular formula.

A. CgHg
B. Cy,H,
C. C,Hg
D. C,H,

THIST H TAIE UG Hehd LT o-

A, TS T T 7, S -1 T
1a-4 (C-1, C-4) & fa=ma o fir=rar
T &

B. D-ThISI Td Lol T foarr &

C. TIHIS H SHRMEME 8|

@HNW% ST Carbon-1

(C-1) 3 form=arme 7 fy=rar T &)

o

rfurfsra ot &t Freraten fdt s &
ATIShH T

. AT Al TeRfd 9T

. I Y Ut I

. JTRE Tt

OO0 W »

foe srfirforan o fomm ifsr:
2802(9) + OZ(g) = 2803(9)

afe ek foret & arvg e & wrey farsor
489S03,12.89S0, T 9.690, JuRerd
21 g feerish ST A

A. 10 B. 30
C. 25 D. 60

T SIsl-eh ATTiTh, Se C 06 H &, 1
HATIT! & CH &, 351 SATf0eeh ZeaHT
78 TTH/HIA &, SHOTE 1 82

A. CgHg
B. C,H,
C. C,Hg
D. CyHy

SPACE FOR ROUGH WORK / &% &Td & for&r sre
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62.

63.  Which of the following halide is not

64.

65.

Nylone threads are made of;
A. Polyvenyl polymer

B. Polyester polymer

C. Polyamide polymer

D. Polymethylene polymer

oxidised by MnO, ?
A
B. ¢

C. Br—
D. |-

Which of the following organometallic

compound is ¢ and © bonded?

A. T 2+
_FenS(CSHs)gJ

B. — —
PtCI3(n2—C2H4)}

c. [CO(CO)s NH3 |

D. _AI(CH3)3]

Which one of the following compounds
used in Down’s process to reduce the

fusion temperature?
A. NaCl + KCl + KF
B. CaCl,+KF

C. NaCl+NaOH
D. NaCl+CaCl, + NaOH

62. R % 9w S &-
W I SIEEIRCCRNED
B. Uit sigeteh
C. UrcuATES geish
D. urclifHefie sger

63. ot o & o1 G RellsE A MnO, &
siterefiera Tt T 22

w

C.
D.

E
ClI™
Br
-

64. =9 9 T 91 Freeicash Ak 6 W«

afeerd &

A :Fen5(C5H5)2T+
5 :PtCI3(n2—C2H4)T
c :co(co)5|\|Hs]3+
D.

:Al(CH3)3]

65. {1 ® @ - U yeref e ufskar §
T 19 h1 ShH ST o foTq ST for STTa

22

o w>

NaCl + KCI + KF
CaCl, + KF

NaCl + NaOH

NaCl + CaCl, + NaOH

SPACE FOR ROUGH WORK / &% &Td & for&r sre
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66.

67.

68.

Amongst the following the compound
that can be most sulphonated is-

A. benzene
B. toluene
C. nitrobenzene

D. chlorobenzene

An aqueous solution of 6.3 gm of oxalic
acid dihydrate is made upto 250 ml. The
volume of 0.1 N NaOH required to
completely neutralize 10 ml of this
solution is:

A. 40 ml
B. 20 ml
C. 10ml
D. 4ml

This question contains statement-1 and
statement-2, of the four choices given
after the statements. Choose the one that
best describes the two statements.
Statement-1-phenol are more acidic than
alcohol.

Statement-2- CgH5O ™ is resonance

stabilised but RO™ is not

A. Statement-1 is false; Statement-2 is
true

B. Statement-1 is true; Statement-2 is
true; Statement-2 is correct
explanation of Statement-1

C. Statement-1 is true; Statement-2 is
true, Statement-2 is not correct
explanation of Statement-1

D. Statement-1 is true; Statement-2 is
false

66.

67.

68.

o= o @ e i o srfieRan
e =Rl BT -

D. ARSI

6.3 gm JTTRATTSh 3TFT SIZETESE HT

250 iy, Y. STt forerar s T &) 3ae
10 for. Y. fererer =t oot Semefe &6 % forg
0.1 N NaOH o e 3Trra Y ST1agerehdn
g

A. 40T <.

B. 20 fa. <.

C. 10fu

D. 4ff .

I W g1 HU, FHUF-1 Td HIUF-2 B ST
U % 3id § 9N fashed A R 8 T0 @
T forshed T =19 ShIST, ST T hefT o
T ST L B

- 1 -ThTe, STeshieet shi STuer STt
A

FUA-2- CgH50™ SIS o FT TATHI
ITH ST 8, ek RO~ &

A. FF-1 T 2, HI-2 T 2

B. d-1 T ?; HUF-2 Gl 7; -2,
-1 Y T AT B

C. ®¥-1 9l 2; Fo-2 Tl 8, -2,
-1 Y Tt T T 2

D. &9H-1 & §; FYF-2 Teld 2
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69.

70.

71.

72.

73.

The electronegativity of the following
elements increases in the order of:

A. C,N,Si,P B. N,Si,C,P

C. Si,P,C,N D. P,Si,N,C

A hydrocarbon that reacts with sodium
in liquid NH3is:

A. CHz-CH,-C=C-H

B. CH3—C=C—-CHs

C. CH3-CH=CH-CHjy

D. CHz-CH,—-CH,—CHg

Which one of the following reaction is a

method for the conversion of a Ketone
in to a hydrocarbon?

A. Aldol condensation
B. Reimer-Tieman reaction
C. Cannizzaro-reaction
D. Wolff-Kishner reaction

Number of sigma and Pi bonds present
in compound

@/%/

is:
A. 140,87
C. 180,2n

B. 18c,4n
D. 14c,4n

The conjugate base of OH™ ion is:
A. O,

B. 03~
C. 02~

D. o

69.

70.

71.

72.

73.

frfctRaa dedi o fora ottenehar s
ST g1 3hH &

A. C,N,Si,P B.N,Si,C,P

c. Si,p,C,N D. P,Si,N,C

U BIEGIhTeH, ST foh 5T NH; W Eifeam @
sAfurfsra s 2
CH3-CH,-C=C-H
CH3-C=C-CHg
CH3-CH=CH-CHj
CH3-CH, —CH, —CHg3

07 o 9 ot srfufshan ue e &t
BIESIehIsH H sIgei shi farelt 82

. TeSId HE

. Gre-erge sAfurfsham

B IESIUEIRIER)

. Aleh-Terer sffsran

o o w >

O w >

Tiftren

O
4 T e uTe Strey i g §:
A. 140,87
C. 180,2n

B. 18c,4n
D. 1l40,4n

OH™ 3T 1 fiem &
A 0O,

B 03"
C. o2-
D

o-
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74.

75.

76.

77.

78.

Which has maximum covalent
character?

A. sicl,

B. AlCI;

D. LicCl

Identify the least stable ion amongst the
following:
A. Li~
C. B~

B. Be
D. C

The solubility of Hg,Cl, in a solventis

‘S’ moles L1, its solubility product
will be:

A. 1652 B. 852

C. 165* D. 483

The radioactive isotope gg Co isused in

the treatment of cancer, can be made by
(n, p) nuclear reaction for this reaction
target nucleas is:-

59 . 59
A. 28N| B. 27Co

60, 60
C. 28N| D. 27Co

When lead storage battery is charged
then:-

A. Lead oxide dissolves

B. Concentration of sulphuric acid
decreases

C. Lead electrode becomes coated with
lead sulphate

D. Sulphuric acid is regenerated

74.

77.

78.

foRertt TrEErTSIT 70T HaiTerh 82

A. siCl, B. AlCIg

C. MgCl, D. LiCl

o o O e 1 Tt 31T i uee
ey

A. Li~ B. Be~

C. B~ D. C”

e fqamre § Hg,Cl, i foeemar <S” /i
ferer ™1 21 goet foreterar orwe B

A. 1652 B. 852

C. 165? D. 483

>0 Co Yfeaitufaea aweenie: 1 i S
¥ ForfireaT & €17 2 51 % (n, p) TR

fora seT SR ST Hehar 21 3@ foran 6 ford
H&Tmﬁiﬁ%:-

A. gZNi B. g"?c:o

c. Oni D. 23Co

ST S NS St bl <TS] foRdT SITdT @ e
A. e HATHITES FeraT

B. SR TR hi HigaT Hed! o

C. S IAHIE W iedethe i Wd el

2

D. SR 3T TR a2
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79.

80.

81.

82.

The normality of 0.3 M phosphorous
acid (HzPO3) is:

A. 01
C. 03

B. 0.9
D. 0.6

In the standardization of Na,S,03using
K,Cr,05 by iodometry, the equivalent
weight of dichromate is:

A. Molecular weight
2

B. Molecular weight
6

C. Molecular weight
3

D. Same as molecular weight

Which equation represents an example
of Friedal-Crafts reaction?

CeHg +02H5C|ﬂ>cﬁH5c2H5 +HCI

CoHgOH + HCI—2112_, oo HeCt +HQ0

CgHsCl +CH3COC|&>C6H5COCH3 +Cly

CoHeBr+ Mg— 3, coHeMgBr

The enthalpies of formation of
A|203 and Cr203 are —1596

kImol~*and —1134kJ mol ™t
respectively. The value of enthalpy
change for the reaction.

2Al+ Cr203 — 2Cr + AI203 is-
A. —462 kJ B. 1365 kJ

C. —2530kJ D. +2530 kJ

79.

80.

0.3 HT. BEHRE (HzPO3 ) 37t =hl AHerar
&

A. 0.1 B. 0.9

C. 03 D. 0.6

W@ﬁ?ﬁﬁﬁﬁ Na28203 <l
STHTIORRT K ,Cr, 0, 3l HETal § 3t T

STISRIHC T eaToh! WK BT
A. 3] AR
2
B. smjur
6
C. apur
3

D. 310] R % §0H

HIET GH T ShTSe-shTee STTShAT Sh
gafeid sar 82
CgHe +c2H5C|ﬂ>csH5C2H5 +HCI

CoHgOH+ HCI—2"12_, ¢ HeCl 4 H00

CgHsCl+ CH3COC|ﬂ>C6H5COCH3 +Cly

CoHgBr + Mg—13_, ¢oHeMgBr
Al,03 T& Cr,05 % d9a 3! &l 911
SRHT: —1596 kJ Hiet s —1134 kJ
drer 1 &) rfrforan

2Al+Cry05 — 2Cr + Al,Og T 373
qfer T o 2

A. —462 kJ
C. —2530kJ

B. —1365 kJ
D. +2530 kJ
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83.

84.

85.

86.

In a fcc arrangement of atoms A and

B, A atoms are at the corner of the cube
and B at each face centre. Most probable
formula of the compound is-

A. AB B. AsB

C. AB, D. AB,

A current of 2 ampere when passed for
5 hours through a molten salt of a metal
deposits 22.2 g. of metal of atomic mass
179. The oxidation state of metal in salt
is:

A +1 B. +3

C. +4 D. +2

The number of d electrons in Fe*? is
not equal to that of:

A. p-electrons in neon
. s-electrons in Mg

B
C. d-electrons in Fe
D

- p-electrons in CI™

A radioactive isotope has a halflife of
10 days. If today there is 125g. of it left,

which was the mass 40 days earlier.
A. 2000¢g B. 1000 g

C. 500 g D. 250 g

83.

84.

85.

86.

TRHI] A TS B o eTeh shi-ad BHIehH (fec)
FEATH A TTATY] 5 o I T T B WA
Yo Bt oheg | e &1 ATk &t

A. AB B. AsB

C. ABg D. AB,

2 UPT 2hT G i E ek ST ot e o
TTfeTd STaoT B ¥ YaTfed shi STl 8 a9 22.2 g
o7 &I BT 1 FfS eTq Sl TRHTOT
179 B QT G 3 AT H STTeliahoT ST
e

A +1
C. +4

B. +3
D. +2

Fe't2 @113 % d Selagil oht ST fomersh
o T 8

A. TRF S p-geagHl

B. Mg s- 3iagml

C. Fe & d-3idgmt
D

CI™ % p- SoiagHl

e Xfseiufoee meenfye i o7ef ST
10 fo1 R1 afe 3177 39k A HET 125 TH
v 40 faT gt AT Sufterq of:

A. 2000 g
C. 500 g

B. 1000g
D. 250 ¢
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87. Write IUPAC name of: 87. TUPAC TR -

[(CO), Fe(CO),Fe(CO), | [(CO), Fe(CO), Fe(CO), |

A. Tricarbonyl, hexacarbonyl diiron A. TS, SHRATRTSIC STSHTET

B. Nona carbonyl Iron, B. T &I AR )

C. Tri p carbonyl bis (tricarbonyl C. 218 ™ e o (Zrgehmaiiiel

iron) ST)

D. Tricarbonyl bis (tricarbonyl iron) D. 278 FTelii-el o (ZTEehTalii~et STTIT)
88. “At absolute zero the entropy of a 88. “@WWHEHWWWW

perfect crystal is zero” this is the 19 9 I BT 817 I8 ST & o

statement of law of thermodynamics: S

ol YA T
A. Zerothlaw  B. First law A. T o B. o £

C. Secondlaw D. Third law C fedfwfew D a?ﬂ'qﬁ'm:[

89. 2-chloro, 2-methylpentane on reaction 89. 27N, 2 THemse Yues, AT | Hifeaw
with sodium-methoxide in methanol firemareg SRITRT & WY B9 8-
yields-
CHj Chs

I .
i 1) Co,H:CH, -C-OCH
(i) CzHsCH, ~C~OCH, () CoHsCH, —C 3

CH3 CH3

(ii) CoHsCHZC = CHy (i) CaHsCHLC =CH,
CHj CHjs

(iii) C,HsCH=C-CHg (iii) CoH5CH=C-CHg

| |

CH3 CH3
A. Allofthese B. (i) and (ii) A. Allofthese B. (i) T (ii)
C. (iii) only D. (i) and (iii) C. 3t (i) D. (i) (iii)
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90. Consider following statements. 90. fo sy W foem feRfora:

a) A catalyst is more effective in 2) FIATTS FHTEAT 1 Icieh oIk T
colloidal state. ST
b) The extent of physical adsorption
increases with increasing temperature. b) ’ﬁﬁa’r‘a SIRTTSOT 26T HAT qoeedt
c) All proteins are enzymes. et 2l
d) Promoter increases efficiency of a ¢) Tt T TITEH B 8
e) C\zjtgys?s used as catalyst in ) ) aﬁrawﬁ‘ocr%ﬁ bl
mzantsjfacture of H,SO, in contact ) S T 6 S ffer s
rocess e V05 T SR Ieeh 35 &1 3 Brert 21
wrong statements are: TTeTel e &:
A. (@ and(d) B. (a)and (e) A. (a)T (d) B. (a) T (e)
91. 91.
10 mi of % HCI is mixed with 20 ml of 10 ml %Hcmﬁzo ml% NaOH % @191
% NaOH, the pH of the mixture is: Feforer foer T fovreT 1 pH 2.
A. 10 B. Zero A 10 B. zero
C. 7.0 D. 9.0 C. 70 D. 9.0
92.  Match List-1 with List-11 and select the 92.  g=fi-1 ol GEf-11 & gHfeAd o e e
correct answer using following codes: TERET ¥ HE ST S IR
‘;) i(H; ;) AUFE PAV 2) AG 1) AU +PAV
) )N b) AH 2) —nFE
¢) AS 3) RTZ(dInKj dink
o n
ar 0 As 3) RTZ[ o j
d) AG 4) nRIn V2 V. p
Vi d) AG 4) nR1In [sz
1

e) AH of reactant 5) -RT In K
A. a-4,b-1,c-5,d-3,e-2
B. a-2,b-1,c-4,d-5,e-3
C. a5,b-4,c-3,d-2,e-1
D. a-1,b-3,c-5,d-2, e-4

e) AH SREFRFH 5)-RT In K
A. a-4,Db-1, c-5, d-3, e-2
B. a-2, b-1, c-4, d-5, e-3
C. a5, b-4,¢c-3,d-2,e-1
D. a-1, b-3, c-5, d-2, e-4
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93.

94.

95.

96.

For a reaction at equilibrium, the free
energy change is:-

A. AG <0 and small
B. AG >0 and large
C. AG<0 and large
D. AG=0

Which one of the following mixture is
not an ideal solution?

A. CyHgBrand CyHgl

B. C,HsCl and CoHgBr
C. CgHgand CgHs—CH3
D. C,Hsland C,H5OH

Which of the following statement is

false regarding the reaction between

Clzand C2H6?

A. Itis asubstitution reaction

B. The reaction will give a single
product of C,HgCI

C. The reaction can be initiated with
either sunlight or heat

D. The first step in mechanism is the
cleavage of the CI-Cl bond to give
Cl-atom

Which type of crystals contain only one
Bravis lattice?

A. Triclinic

B. Hexagonal

C. Rhombohedral
D. All of the above

93.

94.

95.

96.

AT O, SHAHToRaT o ford 7k 3ot
gierdT 8:-

AG <0 w9

AG >0 g I==9q =

O w

AG < 0 Td I==HqH
AG=0

o

foreT o @ =i ek feror amret forem T §:
A. C,HsBr & C,Hsl

B. C,HsCl T C,H:Br

C. CgHg T CgHs —CHs

D. C,Hsl T C,H:OH

Cl,Td C,Hg % wed SA¥sham & daifea

=T T @ T e TTeq 22

A. T T gfaemo stfifsrar 8

B. 30 ffsrar  shael Tk 3cUTg
C,HsCl saT 8

C. IE SATToRaT GATHIT AT AT
Sufkerdt o €t Uy B TR 2

D. fora foeft St wem ug & C1-C1 sy
2L C -9 T

foFe TR o Toreeett O Sifere STtk shaet
A. Bt

B. WU

C. Pragmare

D. SWih axft

SPACE FOR ROUGH WORK / &% &Td & for&r sre
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97.

98.

In the following reaction the product [A]

is-

N*=NCI~ NH,
+

yellow

dye
SROSIERNE O
B NH,

\
@)—n=N=)

c ,NH,

Velocity of de Broglie wave is given by:
¢ = velocity (light)

v = frequency

2= wavelength

m = mass of material particle

C hv
A. \Y% mc
C. h_V2 D. v
mcC

97.

98.

foet arfsrforan & Saae [A] 2

N* =NCI™

S STt T o T T B &
¢ = AT (Y1)

v = Sf

A =gl 3

m = IR shl AT

C hv
A. \Y% mc
C. h_V2 D. v
mc

SPACE FOR ROUGH WORK / &% &Td & for&r sre
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99. Haloalkanes are insoluble in water, 99. BAISTTHH ST H IR &, FATToh-
because- A 31%534111 = 5
A. their molecules are non-polar B yua¥a LT TR E mws

B. they are unable to form H-bonds @
with water '

C. their molecules are slightly polar but c. Sq%ﬁ i "f E%’ g
they are unable to break H-bonds ] H-S0e1 301 AT 61§77 &
already existing in water el &l

D. Band C both D. BUdH C M

100. The Vant Hoff factor for BaCl, at 0.01 100. BaCl, 3 0.01 M Hi=dT H STUeETE ulteh

M concentration is 1.98. The percentage 1.98 21 39 Higal | BaCIZEh‘rEIﬁMH

dissociation of BaCl, at this e E,

concentration is-

A. 98% B. 100% A 98% B. 100%

C. 49% D. 69% C. 49% D. 69%

SPACE FOR ROUGH WORK / &% &Td & for&r sre

202052-VVNZ-ENT-JZK-E 33 Set-A



PART - 111 (A)

Candidates who have opted for S Srfieamil = STeE o T T T
Mathematics at the time of application, Torered =T oI, o 36 9T i et Y SN S
should solve this section and candidates Srftearl ¥ ST1e % wu e fas 6
who havg opted for Biology at the time P T o, 3 3 T T wet T Rt |

of application, should not solve this N B
section.
Mathematics wfora
101. If 0<0<2n, then solution of the 101. =fe 0<0 < 2n ar fFforefa aeftertor st
equation A BN

. 2 _ T
(sin 20+ /3 cos 26) —5—cos(29 6) (sinze+J§cosze)2—5:cos(2e—gj

is:

A g 5t Tn Aogtn e
6 6
B. e_?_le_n B. 9=7—12t,19—2n
T12'12 121

C. n 5m C. e=£,5_n

=5 1212
D. None of the above D. IHIT H & I Tl

102. A bag A contains 3 white and 2 black 102. ueh 9T A § 3 Hhe T 2 ThieA! Tic & e

balls and a bag B contains 5 white and T T B # 5 e TS 4 el 72 ¥ 5
4 black balls. One ball is drawn at : St i .
random from one of the two bags and is Sl T | A T
found to be black. Then the probability ferpeft STt 2 St o reft e St &1 7
that it was drawn from bag B is- 34 7ig ot If B & Fepret ST <l arfremar
A 10 &

19 A. E
B. § 19

53 B. 25

53

c E C. 11

18 E
D. None of these D. 4 HIg T

SPACE FOR ROUGH WORK / &% &Td & for&r sre
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103.

104.

105.

d fl—cosx
_— |og =
dx 1+cosx

A. cos X
B. sinx

C. cosec x
D. None of the above

Itan_l fsech—l dx —
sec2x+1
A. X2

2
2x2

X2

X
sec —
2

A line makes the same angle 6 with
each of the x-axis and z-axis. If the
angle B which it makes with y-axis is

given by sin® B =3sin? 0, then cos® 0 =

A 3
B.

C.

Wik ND|w v

D. None of the above

103.

104.

105.

d 1-cosx
— IogJ =
dx 1+cosx
A. CO0S X

B. sinx
C. cosec x
D

. J9UH | © s T

_[tan‘l ,sech—l dx —
sec2x +1
A. X2

2
2x2

X2

X
sec —
2

ﬁ@@x—ﬂaﬁz—ﬂaﬁww
0 ST 81 IS 9 y-3TT & B FHIT 3H TR

Tl & o6 sin B=3sin? 0 @ cos? 0 =

A

@
N|jw Oo|w

W[~

D. 39UH | § s T

SPACE FOR ROUGH WORK / &% &Td & for&r sre

202052-VVNZ-ENT-JZK-E

35

Set - A



106.

107.

108.

If a, b and c are in Arithmetic
progression and one root of the equation

axZ +bx+c=0 is 2, then the other root
will be:

A -5
2
B. 5
4
C. -5
4

D. None of the above

The condition that the circles
x2 +y2 +¢2 =2ax and

X2 +y2 +c2 —2by =0 will touch one
another externally, is:
A1 1 1

C. 1 1 1
2 2
D. None of the above

Starting with xy =1, the approximation

Xy to 3% obtained by Newton's
method is-
A

@
Wl w|lo

O

1.25
None of these

©

106.

107.

108.

Zlﬁa,b?:ﬁ'{cmaﬂﬁﬁﬁ?:ﬁ'{

FfisRor ax? +bx +C=0 HTTHAA 2 &
ol e 7 B
A5

w
UG B

C. -5
4
D. SWIT ¥ ¥ IS 7!

o€ IId SfaTfeh 9 X2 +y? +¢2 = 2ax Td

x% +y? +c% ~2by =0 TF FE I &
W@Fﬁaﬁ,%ﬁ’ﬁ:

A. i+i+i—0
a2 b 2

1,11
a’® b?® c?
iz+i+i:l
a

b2 2

D. 3Tk H A HIE Tar

=0

Xo =1 & TR T O = farfer gra
Xy T HieTehe 3% W B-
A 5

B.

w|lh w

C. 125

D. 70 ¥ s Tl

SPACE FOR ROUGH WORK / &% &Td & for&r sre
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109.

110.

111.

The value of A, for which

2x% +7xy +3y% +8x +14y +A =0
represents a pair of straight lines, is:

A 3
B. 5
C. 8

D. None of the above

The point on X2 +3y2 =9, which is
nearest to the line x+y =5, is-

* (58
22

If a2+ b2 +c? = 2, then ab+bc+ca
lies in the interval:

A. _114}
| 2

B. —1,3}
| 72

C. _1’1}
[ 2

D. [4 2]

109.

110.

111.

A\, T 0T T BT foreeh forr

2x% +7xy +3y% +8x +14y + 1 =0,
FHTHTOT ECS LTSl o I 2l TR Heal
o

.3

. 8

A
B. 5
C

D. 3w § & g T

x% +3y? =9 T e forg ST x+y =5
% HeId AoTdlen 2, B-

A [3@ EJ
22

feora @ sT=aUet 1

“ 15
MEH
3
D. [1 2]

202052-VVNZ-ENT-JZK-E
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112. The volume of the parallelopiped whose

113.

114.

115.

sides are given by-
%

_)
a=2i-3j, b=i+j-k and

=3i—k, will be:
4 units
6 units
8 units
None of the above

When the number 1.07465 is rounded
off to three significant digits, then the
absolute error is-

A. -0.005

B. 0.005

C. -0.00005
D. None of these

2
The function (x) = X +1 i

increasing in the interval-
A. 11
1551

B.

]-o0

1 1
’_E[U]E,OO[

C. ]—00,1] U]Z,OO[
D. [1 o

The angle between the two lines whose
direction cosines are determined by
L+m+n=0and 2em+2n—mn =0,
IS given by:

A. 30°

B. 45°

C. 60°

D. None of the above

112.

113.

114.

115.

I FHTK YEHeTeh I ST [T fohsi1e-

_)

il
el 9t @ =2i—-3j, b =i+j—k

?MTE)=3i—k &

A. 4TFE

B. 63F%

C. 83FE

D. SRk H | IS T

SIS HEAT 1.07465 1 o e qeh H1efeh
A TS0 ST foram STTa 7, e =<' e 2-

A. —0.005

B. 0.005

C. -0.00005
D. T &g Tl

2
qﬁHin}:4XX+laﬁm?%3ﬁmﬁﬁnn

B. 1 1
]-oo, _E [U] E’ oo [

C. ]1-0,11 U112 o]
D. [1 o]

3@ Sl fesm smisa™ £+ m+n=0
A 2¢m+2ng—mn =0 ¥ i@ g, &
%HWEQUT@TIT:

A. 30°
B. 45°
C. 60°

D. IHH H & I T4

SPACE FOR ROUGH WORK / &% &Td & for&r sre
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116.

117.

118.

119.

In a triangle, the lengths of the two
larger sides are 10 and 9 respectively. If
the angles are in arithmetic progression,
then the length of the third side is:

A 6+3
B. 5

C. 5+6
D. None of the above

If f:R —R be the exponential function
and g:R, — R be the logarithmic

function, then (f —g) (1) =
A -1
B. e
C. 1
D. 0

The shortest distance between two
straight lines, whose vector equations
are given

by: T = (3—1)i+(4+21) j+ (t—2)k and

T = (L+s)it (35-7)j+ (25— 2)k (where
s and t are constants) is given by:

A J37 B. V35
C. J38 D. None of the above

If the coefficients of 5, 6! and 71"
terms in the expansion of (1+x)" be in
Arithmetic progression, then n =

A. 7orl4d

B. 5o0rl6

C. 6ori15

D. None of the above

116.

117.

118.

119.

foreft foregst <Y 2 et oqsiTatt ot crwagat
SFHST: 10 3T 9 B) AT 3Gk 1o FHFTT
2of} 7 81 At fereY o= <t TS B

A 63

B. 5

C. 546

D. STt H & 1S 7t

afe f 1R — R Teh =R TTdishl oid & aT
g:R, — R T AU e &, T9
f-9)(®)=

A -1

B. e

C. 1

D. 0

31 o Y@y fores gfesr gHisRr
T =@-t)i+ (4420 j+ (t-2)k 30

¥ = (1+5)i+(35—7) j+ (25— 2)k T
I T E (ST s 3 t &Y SR R), & fora it
=T g B:

A 37 B. /35
C. 38 D. SUUH H 9 IS TaT

afe (1+x)" & forear &7 541, 6at 3R 74t
9e GHMET-X U A @ al, n =

A. 73114
. 53r16

B
C. 63115
D. IHhH & FE T
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120.

trapezoidal rule, is-
A.

121.

- . . - ..
If a =i+2j—-k and b =3i+ j-5k,
then unit vector in the direction of

1.1176

B. 1.1167
C.
D. 1.0116

1.1181

- =
vector a— b, will be:

A. 4i+3j—6k
B.

C.

122. Order and degree of the differential

3 2
equation ﬂ3/d—33/ =4/d—)2/ are
dx dx

18

—2i+j+4k

V21

—i+3j+4k

V26

D. None of the above

respectively-
A 32
C. 3,3

123. Value of correlation coefficient between

B. 2,3
D. 2,2

Taking n = 4, the value of J~021d_x by
+ X

following values of X and Y is-

X1 ]3] 5]7[8]10

Y 12151711820
A 0 B. 1 approx
C. 2 approx D. 0.967

120.

121.

122.

123.

2
n = 430 T, grivsamree frm d, [ 0C
' 01+x
T HH &-
1.1176
1.1167
1.1181

1.0116

o w >

I & =i+2j—k @1 b =3i+j—5k a
afEr a- b fmm i whie wfew 2
A. 4i+3j-6k

V18
B. -2i+]j+4k

V21
C. —i+3j+4k

V26

X[ 1|3 ]5 17 ]8]10
Y | § [ 121151718 |20

o offer TrEEwE T T M 2-

A 0 B. 17T

C. 2mHT D. 0.967

202052-VVNZ-ENT-JZK-E
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124.

125.

126.

Find the least positive integer n which

. (i-1))" _
will reduce | ———= | to areal number:
(i+1)
A 1
B. 2
C. 3

D. None of the above

A problem is given to three students
S1, Sy, S3 whose chances of solving it

are l, 1, 1 respectively. Then the
3 45

probability that the problem will be
solved is-

A

Jglw WD Mlw N

The number of ways in which two
American, two British, one Chinese, one
Dutch and one Egyptian can siton a
round table so that persons of the same
nationality are separated, will be:

A. 336 B. 350

C. 376 D. None of the above

124.

125.

126.

€ YTCHh =cH YUTish ST n J1d Y
(i+1) '
1

.3

A

B. 2
C

D. SWihH & HIS T

Te 9T o4 foRmii Sy, S, Sy &l fear
T 7ok ST & ol ST ot SraT eoft

SHUST: % %, % 9 3H HATA o & L [l
SIEEIRIPERIES

A

O
glw Wi MNlw N

fohe TR & a1 st 2 fardier, w
Y, wen &= I we 3iifters st o
TR BT 3 SO for3TT ST Eehell &
foh T ATt o &1 ST ATy 1 1 91

A. 336 B. 350

C. 376 D. I H ¥ IS T2

SPACE FOR ROUGH WORK / &% &Td & for&r sre
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127. Solve the equation 127. gefiepor

2tan_1(cos X) =tan_1(2cosecx) and 2tan_1(cos X) :tan_1(2 cosecx) &ef
X= T x =
T
ZnTC—E A 2nﬂ—g
T

nTC+Z B. nﬂ:+£

2nn+g C. onn+ X
D. None of the above D. IWIhH ¥ 15 Tl

128. If 2x+y+X =0 isanormal to the 128. ot ox 4y =0 wEe™ y2 = —8x *
parabola y? =-8x, then X is : o erfireresy 8, A A &1 | B
A. 28 A. 28
B. 26 B. 26
C. 24 C. 24
D. None of the above D. 3T0RE A T FIE T
129. The maximum value of f =3x +4y 129. sggemEt

subject to constraints X+y=>12,3x+2y<6, x>0,y>0 &
X+y>12, 3x+2y<6,x>0,y>0 is- S f = 3X + Ay T SR W &
A. 18 A 18
B. 36 B 36
C. 48 C. 48
D. None of these D. T & HETH

SPACE FOR ROUGH WORK / &% &Td & for&r sre
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130. A flag staff of 5 m height stands on a 130. us gieT SHERT foeht e 5 | g, 25

building 25 m high. Both the flag staff St ST U weT ¥ A gy e st
and the building subtend equal angles at

_ SUT ST Ush TeaeTasft & THM shi sHTd &
an observer at a height of 30 m. The
distance of the observer from the top of 1 30 1 1S W @t & A et
the flag staff is: FieT et o i & forardt g et
A. A.
5.5 m 5\/§ o,
2 2
B. B.
53 598
2 2
C. 5/V3m C. 5/43
D. None of the above D. STk H ¥ HIE Tal
131. Solution of the differential equation 131. 2y pX
R ot S A Cub 9 L z)xe T
dy __(@ryheX o dve
dx 142X =
A. X
y= ke , k is constant A y= ke K SR s
1+ ke* 1+ke*
B. -X B. —X
y= ke Kkis constant y = o
e -k e X -k
C. yeX =k —-e*, k is constant C. yeX =k—eX, kI ?
D. _aX D. X
_ ke , k is constant y= ke kIR ?
1+ ke* 1+ ke*

SPACE FOR ROUGH WORK / &% &Td & for&r sre
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132.

133.

134.

If the angle between the two lines
represented by

2x2 +5xy+3y2 +6X+7y+4=01is
tan_l(m) . Then the value of mis :

A

3
"
Dl Ok &‘H

3
I
H+

=
Il
H+

D. None of the above

If the angle A of a triangle ABC is
given by the equation 5cosA+3=0,
then sin A and tan A are the roots of the
equation:

A 5

8x2 —15x+>=0
3

B. 5x243x-3=0

C. 15x24+8x-16=0
D. None of the above

For n independent trials if p is the
probability of a success and q that of a
failure in a single trial, then the variance
of the binomial distribution is-

A. np

B. nqQ

C. npq
D. 1-6pq

vnpq

132.

133.

134.

e TR
2%% +5xy +3y° +6X+7y+4=0 ¥

yefRia 21 @il % Heg 0T tan~H(m) ¥,
Al m T {8

A

3
I
H+

o0
3
[
H

C.

3
"
Ol Ol ®|H

D. 3Tk H A HIE Tar

Afe FoRgst ABC 1 10T A, SEfiehaor
5c0sA+3=0 ¥ fear & sin A 3R
tan A,ﬁﬂ%@ﬁﬂﬁw%qﬁﬁﬁ:

A gx? 1554220
3
B. 5x243x-3=0

C. 15x24+8x-16=0
D. 3Tk H A HIE Tar

n T gt o foTw afe p avberar it
ITFRreRdT & TUT q Ueh URIET0T § ST 31,
e f5ug sieT o1 TeHr 8-

A. Nnp

B. NqQ

C. npq
D. 1-6pq

vnpq

SPACE FOR ROUGH WORK / &% &Td & for&r sre
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136.

137.

2
D. (ex —1j x2

Solution of the differential equation

x(ﬂﬂanzjzy is-
dx X

A. .1 .
y = XSsIin—+c¢, C IS a constant
X

B. X .
XC0s| — |=c, cis a constant
y

C. . .
XSIn (X) =C,C IS a constant
X

D. - .
Xtan 1(X) =C, C Is a constant
X

If a4, ap, ag,...... are in Arithmetic

progression and it is given that
8.1 +a5 +3.10 +8.15 +8.20 +3.24 =225,
Then the sum of first 24 terms will be:

A. 450
B. 900
C. 800

D. None of the above

136.

137.

y=xsin1+c,c3ﬁT%
X

B.
xcos(i):c, C IR T
y

C xsin(xj:c,c K ErE
X

D. xtan_l(z) —C,C3=N R
X

afg ap, ay, ag,...... THFIE JUft | &Y q
Ie feam st fon

dq +ag +aqg +aqs5+agg +agy = 225 ?‘ﬁ

T 24 YT hT I S
A. 450
B. 900

C. 800
D. IHhH & FIE T

SPACE FOR ROUGH WORK / &% &Td & for&r sre
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138. —{a.. 138. —fa.. 3
It A={a}, , suchthat e A={a}, , TIPRER
2 , when i=]j _ =i
0 , when i=#] =0 , s %
represents fractional part function then .
{det (adj (ade))} } SR {} ST ey e e
7 ) {det (adj(adJA))}=
7
A. 5 A 5
7 L=
7
B. 1 B. 1
! 7
C. 3 C. 3
7 7
D. None of the above D. ST H ¥ IS &l
139. The point (1, 1, 1) divides the distance 139. fag (3, -2, 4) 3 (-1, 4, 2) H=TH
between the points (3, —2, 4) and e forg (1, 1, 1) Frefaeia 8 @ e
(-1, 4, 2) in which of the following Wﬁ%wgz
ratios: °
A 11 A1l
C. 34 C. 34
D. None of the above D. 3WIh § ¥ IS e
140. If the function 140. afg B
3ax+b , when x>1 3ax+b | 5 x>l
f(x)= 11 , when x=1 f(x) = 11 s x=1
_ _ Sax—-2b , when x<1 Bax—2b . @ x<l
is continuous at X = 1, then the values of i .
aand b are- x = | WHAA §, I a TAT b & A &-
A a=2,b=3 A a=2,b=3
B. a=0,b=11 B. a=0,b=11
C. a=3,b=2 C. a=3,b=2
D. a=11,b=0 D. a=11,b=0
SPACE FOR ROUGH WORK / T &1 & forar wrire
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141.

142.

143.

If f(x):x—_l, x #1, -1, then
X+1

(Fof 1) (5)=
A. 5
B.

C.

oo o~

D. None of these

The eccentric angle of a point on the

2 2

ellipse X—+y—=1 at a distance of >
4 3 4

units from the focus on the positive x-
axis is:

A cos_l(E)
4

B. cos_l(ij
4

c cost (§)
4

D. None of the above

J-n xsecxtanx . _
0 sec?x+1
A n
4
B. 2
4
C. 4
n
D. i
2

141.

142.

143.

afg f(x):x—_l, X #1, —1 ad
X+1

(Fof™) ()=
A. 5
B.

4
6
C. 6
5
D. 378 ¥ s Tl
2 2
forel formg a1 festerer XTH?:m,

%ﬂmaﬁx-amqrmﬁ%% oIS U W
m@'—r%ﬁm:

A cos_1(§)
4
B. cos_l(lj
4
c cos_1(§j
4

D. 3Tk H A HIE Tar

n XSECX tan X
J' — dx =
0 sec®x+1

A

:\N|4> Al _,>|:1N NG
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144. solution of the differential equation
dy —3ycot xdx =sin 2x dx , when

(5

A. y=—25in2x+4sin3x
B. y=4sin3x

C. y:—23in2x

D.

y= —2sin"L2x +4sin®x

145. Mean for two variables x and y are same
and equations of two lines of regressions
arey=ax+band x=ay+p. Then

&

—a
1-ap

B
1-

© > =

o O

=
|‘g
= Q

146. The region bounded by the inequalities
X+2y<8,x>6,y>3, x>0,y>0 is-

A. unbounded
B. exterior of a triangle
C. apolygon

D. None of these

144, s1aehet gt

145.

146.

dy —3ycot xdx =sin2x dx , Ss

y

A

B.

C.

D.

(gjzz,wm%

y= —2sin® x +4sin® x
y = 4sin®x
y= ~2sin? x

y= —2sin"1 2x + 4sin® x

1= x AT y o foTT ATe T 8 9T 3
21 el TorTe Y3t & G y = ax + b

b

qoT X = ay +p %laa_l -

A

B.

. 1-ap

=

I -
|‘Q|
= R

araferTen
X+2y<8, x>6,y>3,x>0,y>0 g
ufiees & 8-

A
B.
C
D

. 3UNEeg
ek T[T 1 SITaT 9T

'Q'a;\s\’)

. STH Y S AR
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147. If «, B, v are lengths of the altitudes of 147. 7fs o, B 3R v, BT ABC 3t wSTTaAl T

a triangle ABC and if A is the area of It @ et T oree Y AveEaT @ S afe
the triangle then o2 +B_2 +y_2 = A ﬁg@raﬂ SABA &
A. (cotA+cotB+cotC)/A a2 4p eyl

B 2 2 2 A. (cotA+cotB+cotC)/A
© (cot“ A+cot“B+cot“C)/ A

B. (cot2 A+ cot? B +cot? C)/A

C. 2 2 2
Af(tan®A+tan”B+1an"C) C A/ (tan? A+tan? B+tan? C)
D. None of the above D. 3U0RF A T FIE T
148. Two scalar forces 2i+5j+6k and 148. fopet soT W T TR A 2i +5j+ 6k qAT
—i—2j—k are applied on a particle, —i—2j—k S fog 4i-3j-2k wlag
which displaces it from a point 6i+ j— 3k ek fereenfua s €| st g
4i—3j— 2k to the point 6i+ j—3k. The RparT 77T et T BN
total work done by forces will be: °
A. 5units A 5T
B. 8units B. 8%
C. 9 units C. 95&E
D. None of the above D. SRE A A FIE Tat
149. The distance of the point (1, 2, 0) from 149. forg (1,2, 0) 3w fog @ gl v
the point where the line joining 1%,,—3-343[ A(2, —3,1) 3 B(3, -4, —5) &l

A(2,-3,1) and B(3, -4, —5) cutsthe
plane 2x+y+z=7 is:

STTe aTeft W@ THae 2X +y+2 =7 &l

red! 8, Bl
A. 1\/—
—~/285
2 A %\/285
B. 1
g«/281 B. %@
C. 1J_
~\V171 C. 1
3 g\/171
D. None of the above D. 39k d ¥ IS Tl
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150. 2 2 150

. 2 2
Area of the region %+y7=1 bounded GRIRECGRINERIEC el X?+y7:1 EQl
in the third quadrant is: SAHA T
A. brn A. 6n
B. 3n B. 3n
? 2
C 2 C. 2
6 &
D. -3n D. -3n
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PART - 111 (B)

Candidates who have opted for Biology 5 Srieami 3 3o o v i fom
at the time of application, should solve Torered =T oI, o 36 9T i et Y SN S
this section and candidates who have Seflearl ¥ 37T % gug T 1 ey

opted for Mathematics at the time of
application, should not solve this
section.

Biology

101. Statements-

A) A-bands of the muscle are dark &
contains myosin.

B) I-bands are the light bands &
contains actin.

C) During muscle contraction the

A-band contracts.

The part between the two Z-lines is

called as sarcomere.

A. A, B, & C are correct while D is

D)

T[T T, o $H T g TEH R |

GICAERIC]

101. &eH-

A) A-Se Uil TEL T R BT § U AR
T FieAfTd LT

B) 1-SIS gcdh UT o1 B1dT © Ud Tfeke b
aftnfera star 2

C) Ueft Eepe=r o 9T A-Jve Hhfud g
H

D) & Z-{@T % HTE T AT Tehi [T
FHEATT &

incorrect

B. A & B are correct while C & D are A. A, BTUd C H&l g Safh D 7Teld &
incorrect . . .

B. A Ud B He g S C Td D 7TeAd g

C. A, B, Care not correct while D is ' ,
correct C. A, BT C 7eid ® Selfeh D &1 8

D. A, B, & D are correct while C is D. A, BUd D H&l & Selfeh C TTeld &l
incorrect

102. Which one is connected with 102. 37 GTeror § Heifid 8-
i )

conservation of forest” A R

A. Gir et

B. Silent valley B.

C. Kaziranga C. SR

D. Bharatpur D. 9@
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103. Tunnel vision is caused by- 103. e gf¥ forerah shmor et &-

A. Drug addiction A. HIGH 5 FET
B. Use of alcohol B. UGHIEd o SUAMTH
C. Useof LSD C. LSD 3
D. Use of tobacco D. d&Te % 3wan &
104. Five kingdom classification is based on 104. gi=r ST afieReer T & @ fore ox stmefea
which of the following? &
A. Cell structure and body organization A, FIRTEHT ST T e ST
CB: Il;ﬂeopif)(?:clzlil;tr:ls:); phylogenetic 5 Wﬁm o
relationships C. Yo Ud Sfrferarea Heier
D. All of these D. SWis axft
105. The cells forming the peritoneal lining 105. 5eT o Ui et R s STt
of the coelom comprise- FIfRrERRN O witaferd -
A. Squamous epithelium A, ITohT STHAT
B. Ciliated epithelium B. UH 39T
C. Columnar epithelium C. T 3YshelT
D. Glandular epithelium D. TforeT 3ushedT
106. Which of the following is a Long day 106. fe & @ o U el eraehTedt ge 22
plant? A FIE
A. Cotton
B. Wheat B. ﬁ_“i
C. Soyabeans C. Hmmft
D. Rice D. =ad
107. What comes out of the Calvin cycle? 107. hfca =1k | T STew feherar 87
A. One Glucose A. T IR
B. 18 ADP B. 18T & .
C. 12 NADP C. 12TH.w €t .
D. All of these D. Wi a+t
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108. Zooplanktons are an example of which

109.

110.

111.

of the following?

A

First trophic level

B. Second trophic level
C.
D. Fourth trophic level

Third trophic level

Daily rhythms are usually associated
with-

A

The colonies of which of the following
forms blooms in polluted water bodies?

A

B
C.
D

Pineal gland

B. Pituitary gland
C.
D. Hypothalamus

Thymus

Bacteria

. Actinomycetes

Mycoplasma

. Cyanobacteria

Santonin drug is obtained from which
part of the plant?

A

B
C.
D

Seed

. Fruit

Flower buds

. Leaves

108. Sigeetaes et & & foraent SaTwem 82
A. T AIoT &
B. e divor &R
C. dadt g &R
D. =Teft qivor T

109. &fer srrarfdar araT=r: foRud wsiftm 2
A. e T
B. diwafy
C. 9IHy

D. EEUIHE

110. foe=1 7 9 foperhl it i sTet o wetdl-
e €7
A. S
B. Ufeedmmrgeica
C. WIEeITATSHT
D. HRHISHaET]

111. g=14 3wl de o forg s @ e <hr
STt 87

A. &
B. %
C. T et
D. ufmf
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112

" Sodium/Potassium (Na+ / K*) pump is

an example of which of the following?

A

B.
C.
D.

Active transport
Passive transport
Osmosis

Diffusion

113. Which of the following Green house gas
has minimum relative contribution in
total Global warming?

A

B
C.
D

Carbon dioxide

. Methane

C.F.C.

. Nitrous Oxide

114. An inheritance of flower colour in Dog
flower is an example of which of the
following?

A.

B
C.
D

Incomplete dominance

. Co-dominance

Dominance

. Multiple allelism

115. BHC and DDT belong to which class of
pesticides?

A.

B
C.
D

Organophosphates

. Organochlorines

Carbamates

. Triazines

112.

113.

114.

115.

Tifema e (Na+ / K+) o e & &
ferereRT 3aTeteT €2
. s aiEe
. Tafterr uf@ea

Qe
T

forereaed} 3ot o ot foer o & fopmr o
T13E 116 T HTUTETR ANTEH ol i &7
. HIEESIE JTHATES

DT}

o

O 0 @ »

O o0 W »

AT I H I T h! ST e A
fereTeRT IR0 &7

A. QU T

B. He-ywfaar

C. ywfaar

D. g

ot wr ot et €t € 3 foRe ant o e
&

A. ATHIGERS

B. ATHIFARN

C. wretued

D. IS
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116.

117.

118.

119.

Species of which of the following
provides peat?

A. Sphagnum  B. Funaria
C. Polytrichum D. All of these

In over 60% of Angiosperm, pollen
grains are shed at-

A. 2 celled stage
B. 3celled stage
C. 4 celled stage
D. All of these

Silk is obtained from-
A. Bombyx mori
B. Laccifera lacca
C. Apisindica
D

. Nosema bombycis

Read the assertion and reason carefully
to mark the correct option out of the
options given below-

Assertion-Mast cells help in body
defence

Reason-Mast cells phagocytose and
destroy microbes

A. Both the assertion and the reason
are true and the reason is a correct
explanation of the assertion

B. Both the assertion and the reason
are true but the reason is not a
correct explanation of the assertion

C. Assertion is true but the reason in
false

D. Assertion is false but the reason is
true

116.

117.

118.

119.

o= o @ form < SiTfar e we et 82
A. TR B. wfaEn
C. diferezsd  D. SWe @t

60% T SATereh STTeSI qTEdT H TEThUT
A. 2RI T H

B. i iefier tawen o

C. IR BT Taem §

D. 3w aeft

T 9TH foRa ST 2-
A. Siftaed 9t |
B. ARIHT AR @
C. Tfusfiewd
D. rem sfftereftd &

o T ferereat o & Wit forened < 2 e
3 T Hl AT T UG-

HY-ATES HITITHTE IR TferedT § TRrar
At 2

HRUT-HTES SHITITRTY, HETHTI (5T
(HTTETSEIETE) S Gawsial ol 1T ! &l

A. FHIF TS HIUT SHT G & 3 BT
T ohT Tt AT T © |

B. M TS 0T AT 6 § foheg RoT
T T Tt AT FE FAT R |

C. YU & fobrq RT3 3 |

D. & U & fohrg FRUT A 2 |
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120.

121.

122.

123.

124.

Which of the following type of flower is
produced in Commelina?

A. Chasmogamous
B. Cleistogamous
C. Both (a) & (b)

D. None of these

What causes potato spindle disease?
A. Prions

B. Viroids

C. Virus

D. Mycoplasma

The terminal end of a chromosome is
called-

A. Centromere
B. Telomere
C. Chromomere
D. Metamere

The formula for exponential population
growth is-

A. rN/dN = dt
B. dN/dt=rN
C. dt/dN =rN
D. dN/rN =dt

In which place Electron transport
system is found present?

A. Outer Mitochondrial membrane
B. Inner Mitochondrial membrane

C. Mitochondrial Inter membrane
space

D. Mitochondrial matrix

120.

121.

122.

123.

124.

71 T 9 foher ST o T o1 FHHT0T bttt
o Erar &2

A. e woft

B. 3r{Hied warft

C. i (30 T ()

D. 3wk H & IS et

e fedea T forereh smoT gt 82

A. e

C.

D. HIRR
SRETAThI SHEEAT 27 T & -
rN/dN = dt

dN/dt =rN

dt/dN =rN
dN/rN = dt

ST e ot ford T OX IUfRerd e

9

o w>»

L d

UTgaTshitaT o sTed! fereett
uTgereniteaT shi firadt fereett
TEIehiTedT iR Tl STaehmT

HTSIRITaT SATEIAT

O 0o w >
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125. 1f a man of blood group A, marries a 125. 7fe T 998 A %1 13 TEY, Th 498 B aTelt

woman of blood group B, their children gfeer o faTe oar € a9 S7ht 941 1 &6
can be of blood group-

AT T HeHdT B-
A. AorBorAB only A. FaA A AT B 3T AB
B. ABonly B. ¥ad AB
C. AorBonly C. el A 37eT B
D. AorBorABorO D. A 37T B 37941 AB 31941 O
126. Who is known as father of taxonomy? 126. Ffiertor o1 fOdT (STeF) o €9 § fordr ST
A. Darwin ol
A. eI
B. Lamarck
B. mTh
C. Carolus Linnaeus C. ety elifram
D. Bentham & Hooker D. o T gt
127. Eggs containing enormous quantities of 127. srcanferes A § dides ST S JTe) 3708
yolk are called as- Fedrd 8-
A. Macrolecithal eggs A. AfaHahT v
B. Microlecithal eggs B. Icudidehiy 308
C. Mesolecithal eggs C. HeIdaehiT 302
D. Alecithal eggs D. HaehiT v
128. Which of the following promotes 128. {7 o 9 i qmmet & SiifedTT SRl s1et gar
bolting in cabbage? %
A. Auxins A. ITTfR
B. Cytokinins B. @TgeIfhd
C. Gibberellins C. frestfeia
D. Ethylene D. wefifem
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129.

130.

131.

Read the assertion and reason carefully
to mark the correct option out of the
options given below-
Assertion-Adenoma is a sarcoma
Reason-Adenoma is located in the
adipose tissue

A. Both the assertion and the reason
are true and the reason is a correct
explanation of the assertion

B. Both the assertion and reason are
true but the reason is not a correct
explanation of the assertion

C. Assertion is true but the reason is
false

D. Assertion is false but the reason is
true

The Leucoplast which stores oils and
fats is-

A. Amyloplasts
B. Elaioplasts
C. Aleuroplast
D. All of these

Development of Graafian follicle and
ovulation are under the control of-

A. Estradiol
B. Estrogen

C. Follicle stimulating hormone &
Luteinizing hormone

D. Progesterone

129.

130.

131.

&2 T forehedt | | Ee forshed T B o
3 0T ! M Tk Te-

HUT-TSHT Teh GTehiHT &
FHIU-TISATHT 8T FHeehl H I ST 2

A. T TS T ST Tc & Tl HROT held
$ g I FATR |

B. M Td 0T S 8¢ & fohr 0T
T T TET AT R AT R |

C. U U & fohrq T STEA ¢ |

D. % U & fohrg FRUTHA & |

T TS ST ST HUEYT L STeTT STt ofaeh
T T 2?2

C. I

[N

D. 39Uk auft

fear (anftharT) qfesh 1 forermet vt sToeicent
ferereh fizroT e &2

A. uwEfedie

B. TISH

. QI S BT T YA BTH A

C
D. RIEH
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132. The matrix of mitochondria possesses- 132. g1 =hfvrehT o STTamH | fietd -

A. D.N.A. Molecule A. SLE.T A
B. R.N.A. molecule B. 3 TI.T AT
C. 70S' Ribosome C. 70 TH' Tga ™
D. All of these D. IWRE el
133. In plant cell, which of the following can 133. g1y RIfITRISTT T 90% TIH e &
occupy 90% of the volume? foreer fory B HepaT 29
A. Lysosome A TR
B. Vacuole B. w@urh
C. Endoplasmic reticulum C. fasst siferent
D. Plastid D. & E%
134. Co-worker of Darwin was- 134. gifda o wgedt -
A. Mendel A. AUEH
B. Bateson B. se|d
C. Wallace C. I™
D. Lamarck D. ogTh
135. Which one of the following is not a 135. fymafefad ® @ o Ueh Seqfiardsi Tt 82
mutagen? A U TR R
A. Ethyl methane sulphonate
B. Acetic acid B.  ggfies s
C. Nitrous oxide C. TegH fTes
D. Ethylene oxide D. TR ffedrss
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136. Lymph contains- 136. Aférerr o aftaferd gid 8-

A. Only lymphocytes A. Fad ferrmrarged
B. 99% lymphocytes, no RBCs and B. 99% fTehiaTsed, @Tet Teh shifTehtd Ue
other leucocytes — j ; agrtrﬁ:?rcr
C. gﬁ);ﬁ]:zlé;(t):;/tes and 50% —" L\% 5 T 50% FRAETE
D. 99% erythrocytes and 1% small D. 99% sfelremeed T 1% B1e
lymphocytes ferrmaTsed
137. Cyclosporin A is produced by which of 137. {9 O | 9 WTSaet e T 3 fmfor st
the following? 9
A. Trichoderma A. ZEFreat
B. Aspergillus B. YERiSeH
C. Clostridium C. FAEAfETm
D. Acetobacter D. THiRFR
138. Auxetic growth is- 138. a11ehr gfg (ATaafesr) r o7ef &-
A. increase in number of cells only A. A FHIRTHTST Sl G H gieg
B. increase in cell volume only B. A IR % T | Ifeg
C. increase in fatty tissue C. I Fas | gfeg
D. increase in intercellular material D. SiqhITTR garef & gfeq
139. Which of the following variety of 139. {7 O O i |l shl T o Ui Ifeierss
Brassica is resistant to diseases? R o
A. Himgiri A. i
B. Pusa Swarnim B. wgﬁh
C. Pusa Shubhra C. @y
D. Pusa Komal D. &1 HE
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140.

141.

142.

143.

Which one of the following statement is
correct regarding evolution of mankind?

A. Neanderthal man and cro-magnon
man were living at the same time

B. Australopithecus was living in
Australia

C. Homo erectus is preceded by Homo
habilis

D. None of these

The function of repairing in nervous
tissue is done by-

A. Glial cells
B. Nerve cells
C. Cytons
D

. Only axons

Meaning of | gene in lac operon is-
A. Inducer

B. Inhibitor

C. Operator
D

. Promoter

In which phase of cell cycle amount of
D.N.A. doubles?

A. G1 phase
B. G2 phase
C. Sphase

D. M phase

140. wie 35 Faebrer 5 i & Freferfig § @

141.

142.

143.

I 9T HI oI &7

A. Fuvetyd 91a U shi-HeT o T
LRI DASIN

B. ATy g e foran d wa 9|

C. s afafera, S Sidem & Tt TR
SRR

D. T8 ¥ s Tl

iRt e O gUd 1 T foReh g
fopam STTaT 82

A. fice sifsters g

B. dfrehr snifsreRtett g

C. ®EHEW

D. ad TFH R

I STele TS ST o 379 &-
A. &

B. Ha%h
C. JdIcish
D. 3%

HITTRT =1k shi Tohd ITereen § €1.UA.U, Y
CIEICUE RIS IC IR

A Sft, e
B. Sf, smermen

C. Tq. grdeqt
D. TH YraEQ
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144. Which one of the following is used in 144. srrafer stivmifeht o fefaiad 5 @
genetic engineering? TR SRINT TR STTaT 87

A. DNA polymerase | A. T TUARS |
B. Nucleases B. ~feed
C. Restriction endonuclease C. eam wefraus
D. DNA polymerase I, Il & Il D. € T U U I, [1 T& 11
145. Which of the following is balancing 145. ffetfiad o & i |1 e 31 82
2
organ: A. i 3t e
A. Organ of corti .
B. Cochlea 5.
C. Vestibular region C. a& S &
D. All of these D. 3w aeft
146. A pregnant woman who has done 146. ush Hige TaEve i (Scaaer) gier
amniocentesis test finds an extra Barr O I STI YT H Uk SATIfeh TR e
body in her embryo. The syndrome Tt | R mﬁ é £ :
which is likely to be associated with the a fés & &
embryo is- A. s faugm
A. Down syndrome B. Teas fvgm
B. Edward syndrome c
. o sqﬁ;«a ﬁ:lU@‘Al‘:I
C. Klinefelter syndrome
D. Patau syndrome D. s
147. Ascent of Xylem sap depends mainly on 147. STeT™ T8 o1 3 <1 FeI&d ¥
which of the following physical fyefiaa o forg i oreror oo fasde
property of water? T
A. Cohesion A ddsa
B. Adhesion B, 3yTdSH
C. Surface tension C UsaIE
D. All of these D. 390 @t
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148. jute fibres are obtained from which of 148. fo 7 9 forg Y & S o 1 9TH o ST

the following plant? o

A. Linum A. T

B. Cannabis B. ¥fsw

C. Corchorus C. FHRE

D. Crotalaria D. shicafar
149. Deficiency of copper causes- 149. i st FH & T 8-

A. Pellagra A. T

B. Influenza B. TSI

C. Xerophthalmia C. STeRIterTeh (STReferm)

D. Anaemia & damage to CNS D. THIUAr T CNS | &fd
150. Which of the following is required for 150. o ¥ & foreehl STTarearehal TrT 0T §

the germination of pollen? Bt ¥

A. Zinc A R

B. Copper B. disT

C. Boron C. IRM

D. Molybdenum D. Hifeteedw
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SET-A

3T Sifehd T T T 3Ee rfereRad 3 : 150
Time for making answers : 3 Hours Maximum Marks : 150
qNe:

1. 39 ef qfeaenRt § wi o -
T AT - Tk e 50 T,
TEeiter 9T - TETE e 50 9,
AT T - () 7T 50 T2 () S oI 50 T4 71
T o ue feefter srframd 2

wrerTfeiat st fder faar strar 2 36 3 et s (o) ar (@) § & haer 3@ faw 6 W OMR e § 3
T8 37eh g SrraE o T st forer e am . Sredes e 1 316 T € | BT 150 T o Afame
gl

2. g % I, €1 T OMR 3Uite (errersiie) W sifera i |

3. HUTCH, odieh T8l fhaT AT

4. Tordlt oft T8 o FeTgHeIed a1 @ e U HISTSel Wi ol T8 I & |

5. OMR 3TN (ATETTE) T THRT i THI THT IS FATTLTT T /sl e 98 e T a1
U g AT faerae e ug 9 R woreaey 98 T 8 9 |

Note :

1. This Questions Booklet contains three Parts -

First Part - Physics has 50 questions,
Second Part - Chemistry has 50 questions,
Third Part - (a) Mathematics has 50 questions, (b) Biology has 50 questions.

Part First & Second are compulsory. Candidates are directed to choose only one subject
from third part (A) or (B) which was chosen at the time of application. Each question carries
1 mark. Solve 150 questions are compulsory.

Indicate your answers on the OMR Answer-Sheet provided.
No negative marking will be done.
Use of any type of calculator or log table and mobile phone is prohibited.
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While using Answer-Sheet care should be taken so that the Answer-Sheet does not get torn
or spoiled due to folds or wrinkles.
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